
,
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(CT?. GIS) 

(3 Hours) 

NB: Solve any four 

Q1 a) Explain the Suzuki Kasami algorithm with example. Analyze the 10 

best and worst case scenarios. 

b) What are the limitations of distributed operating systems 
	10 

Q2 	
a) Discuss multiprocessor operating system design issues 	

10 

b) 	
Describe the implementation of Process wait in multiprocessor OS 

	10 

Q3 	a) What are the characteristics of RTOS 	
10 • 

b) Determine whether the following set of periodic rei:1 time tasks is 10 
schedulable under RMS for a uniprocessor system 
T1—(e1=40,p1=200), 12: (e2=60,p2=300) T3:(e3=120,p3=400) 
.state the necessary and sufficient condition. 

Q4 a)  Discuss scheduling in RTOS 
10 

b)  Explain Global State Detection based Algorithm 
10 

Q5 a)  What are the components 	f Load distributing algorithms 10 

b)  Explain the Distributed Database System.What is the serializability 

condition in DDB S. 

10 

Q6 Write short notes on (any two) 
a) File syStems on mobile phones. 
b) Concurrency control in database operating systems. 
c.) Micro and monolithic kernels. 
ti) Kernel and virtual approach in design of OS. 
e) Distributed shared memory. 
i) Test-set instruction 

20 

CEP. Code: 29924 

[Total Marks : 80 
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N.B. : 1. 	Q. No. 1 is compulsory. 

	

2. 	Attempt any three questions from the five questions remaining. 

	

3. 	Figures to the right indicate full marks 

	

4. 	Assume data wherever required and mention it clearly 

1. a) Explain in details cyber defamation. 	 5 
b) Explain how Botnet can be used as a fuel to cybercrime. 	 5 
c) Explain in details IT A 2000 along with its weakness. 	 10 

2 	) 	What do you mean by cyber stalker? Discuss types of stalker and their 	10 
mitigation technique. 

b) 	Discuss in details E-mail forensics analysis 	 10 

3, a) Discuss impact of IT Act amendments on Information Technology io 
Organization. 

b) 

	

	What is buffer overflow problem? How NOPS are uses to cause buffer 10 
Overflow problem ? Discuss 3 tools used to defend buffer overflow problem. 

4. a) Discuss various approaches used by attacker to launch phishing a ack ? 	10  
Discuss SPS algorithms to thwart phishing attacks? 

b) 	Explain Misiness identity thefts and their countermeasures. 	 10 

5. a) Discussed in details digital forensics life cycle. 	 10 

b) Explain following attacks on mobile cell along with their protection 	10 

technique 
1) Mal ware attack 
2) Smishing. 

Write a short notes on following ? Explain any four: 
	 20 

a) Visiting 
b) Backdoor 
c) Public Key Certificate 
d) Digital evidence. 
e) Passive attack. 

BB-Con. 7287-15. 
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(3 Hours) 	 [Total Marks : 80 

Note: 

1) Q:l. is compulsory. 

2) Attempt any three questions from remaining five questions. 

3) Figures on the right, indicate full marks. 

4.) Assume suitable data whenever required. 

Q1 ) Answer the following 	 (20) 

1) Explain any two characteristics of complex business problem in detail. Prove that car distribution 
problem is a complex business problem. • 

2) Explain the structure of Adaptive Business Intelligence System 

3) Explain Constraint handling in optimization 

4) Explain the steps in building a prediction model and explah:the term Data preparation. 

Q 2) 

Seven conipanies are to be compared for different attributes like profitabilitY(PR), productivity(PD), 
market position(MP) and debt ratio(DR).The weights of the attributes are PR-0.54,PD-0.13,MP-0.28 
and DR-0.06. 

Solve using SAW,WPM,AHP 	 (20) 

Company Profitability Prsdi4etivity Market Position Debt Ratio 
Al . 0.75: 	• ItiW ' 0.8823 0.7756 
A2 0.50 •;0.:924 0.8235 0.185 
A3 0.25../...0 .. . 6618 0.5294 0.7179 
A4 1.00 	,c, 0.9022 0.6470 1.00 
AS 0.5625 -" .0.6701 0.7647 0.6987 
A6 0.9315 ?' 0,6349 0.4118 0.8910 
A7 04.1;5 0.6197 1.00 0.7436 

0 
Lit 

	

Q3 	a) Explacoactors to be considered while selecting best prediction method. 

b)Expila, in Hybrid system for car distribution problem 

	

Q 4 	a)Explain PSO algorithm and its flow chart with suitable example. 

	

, 	b)Explain Ant colony optimization 

tNt 
	 [TURN OVER 

.(z.. BB-Con. 7850-15. 
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Q 5 	a) Explain different types of artificial neural networks in detail. Explain any one w.r.t 

the car distribution problem. 	 (10) 

b) Explain simulated Annealing in detail. How it is different from stochastic hill climbing (10) 
r ) 

(2Q) ,S-- 
C 

Q 6) Write short note on any two 

1)Credit card Fraud 

2)Agent based modeling 

3)Marndani Fuzzy System 

dci`- 

/$B-Con. 7850-16. 
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N.B. 
(1) Question no. its compulsory. 
(2)Attempt any 3 from the remaining questions. 
(3)Assume suitable data if necessary and justify. 
(4)Figures to right indicate full marks. 

Q1(a) 	With reference to 2D transformation, Derive the matrix for scaling 	10 
operation on an object, with reference to pivot point. Apply ition a 
triangle ABC , A(0,0),B (1,2) , C(3,2) to double its size. The point C (3, 2) 
should remain fixed. 	

, 

) 
Q1( b) 	Specify the different steps involved in the design of Animation segitionce 	10 

and explain. 	 . 

Q2(a) 	Explain the midpoint subdivision line clipping algorithm for 2 	10 

dimensions. 	, 

g2(1?) 	Generate at least 5 points on _a 2D Bezier curve witja  control points . 	.10 

A(1,1), B(5, 5) C(7,2) D( 10,6) 

. QS(a) 	Explain in details the logical classificatio; of input devices. 	 10 

Q3(b) 	With reference to 2D transformations, prove that the multiplication of 	10 

• transformation matrices for each of the following sequence - of 
• operations is commutative. 

i. Two successive rotations. 
ii. Two successive scaling. 	 7 

Q4(a) 	Compare the parallel and pe.cspective projection. 	 10 . 

\ 
I,  Q4(b) 	. Write the matrkes for cbtation of a 3D object about X axis,? axis and Z 	10 ... 

axis, Rotate a pyrantickitvith base ABCD and apex E about Y axis by 90 . 

• degrees. A(0,0,0).,\00;9,0),  C(10,0,10) D(0,0,10), E(5,20,5) 

\ _, 
. Q5(a) 	Explain the Z-buffer algorithm and Depth sort algorithm for hidden 	10 

surface removal, 	 . 
Q5(b) 	• Write a detailed note on octree and binary.  space partitioning trees. 	 • 10, 

Q6 	Write -..hort notes on 	 • 	
20 

i) Color Models. 
ii) Fractal curves 

N .  

g'r 
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Max Marks: 80 
N.B.: (1) Question No. Ifs compulsory. 

(2) Attempt any three questions out of remaining five. 

1. 	(a) Explain any five defuzzification techniques 	 5 
(b) Explain with neat diagram different types of learning. 	 5 
(c) Explain different activation functions. 	 5 
(d) Explain with example any two operators involved in simple GA. 	 5 

2. 	(a) Consider two fuzzy sets given by 	 10 
A = {Mow + 0.2/medium + 0.5/high} 
B = (0.9/positive + 0.4/zero + 0.9/negative) 	 (,) 
C = {0.1/low+ 0.2/medium + 0.7/high} <N,  
R=AxB 
Find: C 0 R 
C • R 

(b) Explain the EBPTA with flowchart. 	 10 

3. 	(a) Prove the following identities: 	 10 
i) For unipolar continuous activation function f (net) = oo-Qy 
ii) For bipolar continuous activation function f (net) = (1-05/2 
where 0 is out 

(b) 	What is competitive learning? Explain winner take alE eanung rule and Kohonen 10 
self-organizing map with the help of example. 

4. 	Design a fuzzy, logic controller for a train approaching or leaving a station. The 20 
inputs are the distance from the station and speed of the train. The output is the 
amount of brake power used. Use four descriptors for each variable. Specify five 
to six rules and prove that when the train is nearer to station and speed is 
medium, the brake power used is high. 

• 	5. (a) Explain the architecture of BAM. How is storage and retrieval performed in 	10 
BAM? 	 <-‘) <K, - (b) 	Determine the weights*r three iterations for Hebbian learning of a single 	10 
neuron network starti*With initial weights w = [1, -1], inputs as 
X1 = [1, -2], X2 =J2T3], X3 = [1, -1] and c=1. 
Use bipolar con , ous activation function. 

6. 	(a) Explain Fuzzy Associative Memories. 	 10 
(b) 	What is(SPD? Explain architecture and training algorithm for ART1 network. 	10 

<<> 

8B-Con. 8835 -15. 

KZ- 
c-Dt. 



E 	COi'n p itten- 	C te s) 

Sea-in —IL 

stb-wrid e 	-e_ct_ t•-telu,  tvic 
(3 Hours) 

ihr- 

CIP Code : 29939 

(Total Marks: 80 

N.B.:1)Question No.1 is compulsory. 
2)Attempt any three from remaining 5 questions. 
3) Draw the relevant diagram neatly. 

I.a) Compare DAS, NAS ,SAN technologies. (05) 
b) What is zoning ?Explain types of zoning. 
c) An application have 2000 IOPS and the read-write ratio is 7:3. Compute the TOPS required for 

(05) 

RAID3,RAID5 conclude which one is good configuration. 	 c... , (05) 
d) Discuss SNIA storage virtualization taxonomy. (05) 

•-• 
2.a) What is NAS? List the components of NAS? Explain various benefits of NAS. ,\I 	 (10) 

b) Define incremental and cumulative backup. Explain difference between them 	respect to 
restoration probess. 	 ,-;?` ‘. 	 (10) 

9, 

,C5'(  
3.a) Explain in detail about Serverless backup as backup killer applicatio 	 (10) 

b) Explain FC-AL and FC-SW corinectivity. 	 H 	 (10) 

4. a) The average 1/0 size of an application is 64 KB. The following specifications are available from 
the disk manufacturer: average seek time = 5 ms, 7,200 nilfm, transfer rate = 40 MB/s. Determine 
the maximum IOPS that could be performed with the (la' for this application. Taking this case 
as an example, explain the relationship between disk utilization and IOPS. 	 (10) 

b) Explain in detail about Object Storage and Retrieval in CAS. 

• 5.a) Explain Topologies for iSCCI connectivity. 
b) Discuss benefits of SAN. 
c) Explain Copy-on-Write Frozen It0es. 

6 . Write short note on (any Ms? 'c 	 (20) 
a) Data Relication killer alp for SAN technology 
b) Basic SAN Security*hanism. 
c) Roll of Quality of lperformance Service in SAN Management. 

S- BB-Con. 8834 -15. 
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N.B.: (I) Question no. 1 is compulsory. 

(2) Attempt any three questions from remaining. 

(3) Assume suitable data wherever necessary. 

I. (a) Define information retrieval system. Explain functional overview of IR system. 	IC , 

(b) Which are different classic IR models? Explain any one model. 	 C1)0 

2: (a) What is automatic indexing? Give the various classes of automatic indexing.c.'\N 	10 
ca  

(b) What is the relationship between vocabulary browse and thesauti/conc 'classes? 10 
N 2--- 

3. (a) Explain fuzzy set model used in searching. 
	 10 

(b) Explain porter stemming algorithm in IR. 
	 10 

4. (a) Explain any software text searching algorithm. 
	 10 

(b) List the steps and guidelines used for clustering. $j 
	 10 

5. (a) Explain the N-gram data structure in IR with example. 	 10 

(b) Explain any two multimedia information retrieval systems. 	 10 

• 6. (a) Write about search and browse\capabilities of an IR system. 	 10 

(b) Explain information visual 	ion techniques. 	 10 

N. ><.<1  

P-•• 

Ni 

4\1  
4- 	BB-Con. 8833 -15. 

c-D`r 



/177 C • (3 / 	) rye C-Ae- c-r 

C nog ri (c.  4 ) (TS C 

co ;--e-I€- Nielc.ornic 

OP Code : 29762 

(3 Hours) 	[Total Marks: 80 

Note: (1) Question No 1 is compulsory. 
(2) Solve any three from the remaining. 
(3) Assume suitable data if required. 

Ql. (a) Write 40 features and challenges. 
(b) What are the parameters required for Link Budget Analysis. 
(c) Write the difference between ALOHA, SALOHA, and CSMA. 
(d) Explain the terms Reflection, Diffraction and Scattering. 

Q2. (a) Explain IMS architecture in detail. 
(6) Explain MEMO-MU System with block diagram. 

Q3. (a) Explain STBC and STTC in detail 
(b) Give an overview of 3G Technology and its migration to -UMTS. 	(10) 

4-4-r 
I/ 12-4.t 

, Q4. (a) Explain Spacial Multiplexing and BLAST Archgeiures. 
(b) Explain 3GPP Architecture in detail. 

ID/  Q5. (a) Compare Hata Model, Rayleigh, Rician atOakagami Models. 
(b) Explain the Flat and frequency fading,c(hamiels in detail. 

(‘ ,r17  

Q6. Write short notes on followings 21.,̀  
(a) Random Access Multiple 1/4« s Protocol 
(b) Diversity-Multiplexing T 9 ffs 4  

(c) NLOS Multiplepath Fagag Channels 
(d) WLAN-IEEE 802.1e 

Blt-Con.9362-15. 
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N.B. 	(1) Attempt any four questions. 

(2) 	Assume suitable data, if necessary. 

1. (a) What is 3GPP BPS? Explain the Architecture in detail. 	 10 - 

(b) 	Explain the different future network requirements of Mobile network. 

k4"  
2. (a) Explain the concept of WiMax with its different scheduling traffic classee 10 

(b) Explain in detail MAC layer protocols used in wireless sensor netwoitc - 	10 

3. (a) Explain AODV protocol. Compare advantages and limitations with-DSR? 	10 

(b) 	What is hybrid routing protocol? Explain one algorithm in de(ail 	10 

4. (a) What is VANET? Give different future applications of VANET. 	 10 

(b) 	Explain architecture of Cognitive Radio Network am) its different layers. 	10 

What are services and functions that are provided by MAC layer of LTE? 	10 

What are Opportunistic Network? Explain its 'architecture and applications. 	10 

6. 	Write a note on :- 	
• b • 	 .20 

(a) UMB power saving option 

(b) Security Challenges of future wireless internet 

(c) Cross layer adaptive mechanism 

(d) Location based security services 

(a)  
(b)  

BB-Con.9368-15. 
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N.B. 
(1) Question no. 1 is compulsory. 
(2) Attempt any 3 from the remaining questions. 
(3) Assume suitable data if necessary. 
(4) Figures to right indicate full marks. 

(i) Comment whether the following grammar is LL(1) or not 
S4aAbB I bAaB I e 
A 4 S 
B S 

(ii) Using triples and Indirect triples represent the following 
statement 
a= b*-c+b *-c 

(i) Suggest Data Structure for implementation of LR parsers. 
Code hoisting with example 

How Boolean Expressions are handled by Intermediate Code 
Generation q-
Explain Tail Call Optimization and Tail Recursion elimina 

How run time storage management is done using statiellocafion  and 
stack allocation 
Show that following grammar is LL (1) but not SLR (1) 
S—>AaAb I BbBa 
A-+E 
B E. 
Apply Tree transformations to simplify follbWing addressing expression 
aEi][j] , denoted.by  

base a + ( ( i - lol ) * ( hi2 - lo2 + 1) + j - lo2 ) * w 
Consider the basic block given belo,tv , 
tl = a - b 	 r 
t2=c/d 	 -NY 
t3 = tl + t2 
t4 	* f 
t5 = t3 / e 
	

k. 

Ql(a) 

• Q1(b) 

Q2(a) 

Q2(b) 

Q3(a) 

Q3(b) 

Q4(a) 

Q4(b) 

• 

10 

10 

-10 

10 

10 

t7 = tl *t4 
t8 = t7 - t6 
Construct D4", Akply heuristic optimal ordering to it and apply code 
generatimkidlorithin to generate code 
(i) ExplaW01oba1 register allocation algorithm and how graph coloring 
is app _fictiable to it. 
(ii)çpat are basic blocks and how do you partition 3 address code into 
haSitc blocks 

Q6 	("Write notes on 
i. loop simplification 
ii. tail merging. 
iii. Branch prediction 
iv. Copy propogation 

• t6 = t5 - f 

10 

10 

20 
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